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A (i) VHA-FAATIEAY Hoadtd

Note :
(ii)

There are THREE sections in the paper A, B and C.
QT T G 9T GG 1 F @ 10 97T & I AT | e YT G 3% FT 8 v
At 10 97 TGI8 FHR F T F B |

Answer all the 10 parts of the question Ne. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

i) QEwT @ & 8 F¥I 7 8 58T 6 ¥ & IR HfAT | ¥edF ¥ 3 3% &1 8 04

(iv)

(v)

ZTHT 5 T / 50 &gl 7 It v /|

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

a7 @ % 6 oA 7 8 57 4 99 & I AT | F4F 7 8 3% F1 8 @
s7%7 15 @IET / 150 91&gl 4 3o e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

UriE G & T JvT1 1 FHER TF G 7 HHAT |

Solve all the questions of a section consecutively together.

(i) @ s B 3 817 # el § s sarg @ A 8 |

Only English version is valid in case of difference in both the languages.
e

Section — A

. () Praidsnataeddaiefadg g 7

k=

(a) SAITHR (b) @I
(c) HiFeies (d) g

Which of the following robot has three prismatic joints ?

(a) Cylindrical (b) Cartesian
(¢) Articulated (d) Polar
(10f4) PT0.
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(i) TEre % “goffa Sre’ ! efifa fara smar 2 -

(@) L8 (b) OFrg
(c) T8 (d VI
The ‘revolving joint’ of the robot is referred to as —
(a) L Joint (b) O Joint
(¢) T Joint (d) V Joint
(iii) ﬁwmmﬁﬁm%ﬂﬁz%maﬂqmwmﬁm% ?
(a) wSgIfer® (b) FefEF
(c) =gufew (d) 39w H | HIE T
Which of the drive is suitable for smaller robot with fewer degrees of freedom ?
(a) Hydraulic (b) Electric
(c) Pneumatic (d) None of the above
(iv) I # Freds fearga Hfa 3 a1 § s @ 2 7
(a) wiesTyd fgg (b) TR
(c) Trde vapret d) fags=es
Which feedback device is used for measurement of angular velocity ?
(a) Proximity switch (b) Tachogenerator
(c) Absolute Encoder (d) Resolver
(v) AR AgTiaeh! 1 WUE 3% & fore 17 A 379z i sravasar aidi 2 7
(a) <hae feufy (b) hae Aty

(c) Tufawd sfufemmmdd (@) swemdawE

Which of the following input is needed for end effecter in inverse kinematics ?
(a)  Only position (b)  Only orientation

(c)  Both position and orientation (d) None of the above

(vi) =98 = w et g e 3§ faear-gera 2

(a) AT TER (b) FEAATHE TETE

(c) anféperds TEre (d) dfua 3 TEre

Which of the following robot resembles the human arm ?

(a) Cartesian Robot (b) Cylindrical Robot

(c) Articulated Robot (d) Jointed arm Robot
(vii) wfafera wermo o yem s R AT 2 2

(a) wfafers g3.2emm (b) wfafea wgfg

(c) wiafera 3 (d) @

What is the first step in image processing ?

(a) Image restoration (b) Image enhancement

(¢c) Image acquisition (d) Segmentation
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(viii) 0. 2.9 Tate &1 fre & & 9 a1 sEeEm E R 7

(ix)

(x)

(a) wie afeen (b) = ufEm

(c) HHHE THMAI (d) e fgfem

Which of the following is not the application of PTP robot ?
(a) Spot welding (b) Spray painting

(¢) Component Insertion (d) Hole drilling

e SEfin (VAL) 3 #1981 %Wis Sgad adl 8 S Uale &1 P, TIH & TG
ST AT OTE 3 S 10 Tt @ e Z-wm h fem A A FRmam R ¢

(a) APPROP, 10 (b) DEPARTP, 10

(c) SIGNALP, 10 (d) Iyt | 8 HiE TE

Which command is used in robot programing (VAL) to instruct robot to move near
location P, and give 10 mm offset above the part in the direction of Z-axis —

(a) APPROP, 10 (b) DEPARTP, 10
(¢) SIGNALP, 10 (d) None of the above

gﬁuwmﬁﬁmﬁﬁmmwa&mm%?
(a) @REe MEATHR H1Hid (b) WrEeT SAATHR HHld
(c) HHATRR 3Hfd (d) aré fasre snfdta smepfa &

Which of the following type of work envelope is formed in polar configuration
robot ?

(a) Hollow spherical shape (b) Hollow cylindrical shape

(¢) Rectangular shape (d) No specific geometric shape (1x10)
Fa —
Section - B
2. Uerd AR FE AR ?
What are the functions of manipulator in robot ? (3)
3. {die dg # AR 2 Faredl 21 W 3 Tifesh e @1 e st wfeia it |
What is robot joint ? Define any two types of robotic joint alongwith figure. 3)
s U i dare A weRT o Hiet g Bt # 7
What types of motors are used with an industrial robot ? (3)
5. S TS F1 Ad & 2 fafir= e 3 HATLTehet THeRTSt &1 Afiehtol SdTsT |
What is optical encoder ? Give classification of various types of optical encoder. (3)
6. Syt A o EETeReh T AT UIgH o AT SISy |

Show parts of Vidicon camera by making constructional figure. (3)

P.T.O.
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10.

11.

12.

13

14.

15.

Trate s 7 fae save 1 gfonfya Sifso

(i) GRASP 10, 100

(i1) SIGNAL 4 ON

(iii) WAIT 10 ON

Define the following commands in robot programming :
(i) GRASP 10, 100

(i1) SIGNAL 4 ON

(iii)) WAIT 10 ON (3)
fharcg waarerm = 2 7 IgrEw difaw |
What is Fixed Automaton ? Give example. (3)
Iravae! ug wefige #efem & fou dete & sy gamu |
Discuss application of robot for assembly and material handling. 3)
Ja —
Section - C

Tt @1 affentor siferes fa=ma & smam &8 o s 8 7 sugem fam e augnse |

How robots are classified on the basis of physical configuration ? Explain with
suitable figure. (8)

Tiete § HEL % HT 39 E 7 Wi Hew auyn aet Hew % fagra aun siwan auened |

What are the uses of sensors in robot ? Explain principle and application of proximity

sensor and force sensor. (8)
tare 3fe yonelt & e sl i wwe |

Explain the main components of vision system of robot. (8)
Trare ® wgad fafu=t wer & uve shaed 1 afea wwemsd |

Explain various types of end effectors used in robot with diagram. (8)

(i) TR & fou fra d2e wmfin = awzgu | 3udh diur "@dnsu |
Explain teach pendant programming for robot. Give its limitations.
(ii) Ao ot y sanfen 6 favraard qen saeht dmmd sam |
Discuss salient features of manual lead through programing and give its
limitations. (4+4)
Write short notes on following :
(i) TEEEH % oad
Levels of automation
(i) Tt § ygam Hreds feama
Feedback devices used in robot (4+4)




